
=LPDB����

3UDFRZQLN�5R]NãDG���GU�%DUWQLN�0RQLND��7\J������

�������������7\G]��

GU�%DUWQLN�0RQLND� =%�
����

�������������7\J������
�����

3RVWĊSRZDQLH�NDUQH��Z��
GU�%DUWQLN�0RQLND� =DMĊFL
D�RQ�OLQH� ���35$�'����
:

:�W\J�����]DMĊFLD�RG
����

�������������7\J������
�����

6HPLQDULXP�G\SORPRZH�
GU�%DUWQLN�0RQLND� =%�
����� ���35$�'����:

�������������7\J������

6HPLQDULXP�G\SORPRZH�
GU�%DUWQLN�0RQLND� ���
35$�'����:

�������������7\G]���

3URMHNWRZDQLH
XQLZHUVDOQH� GU�%DUWQLN
0RQLND� =DMĊFLD�RQ�OLQH�
���5,3�/����:<.

:�GQ����OXWHJR������U�
RGE\ZDMą�VLĊ�]DMĊFLD
F]ZDUWNRZH�

SR
QL

HG
]L

Dã
HN

�������������7\J������
�����

3RVWĊSRZDQLH�NDUQH
�ZDU�� GU�%DUWQLN�0RQLND�
=%������ ���35$�'����
:$5�

Z�W\J�����]DMĊFLD�RG
�����

�������������7\J������
�����

6HPLQDULXP�G\SORPRZH�
GU�%DUWQLN�0RQLND� =%�
����� ���35$�'����:

�������������7\J������

6HPLQDULXP�G\SORPRZH�
GU�%DUWQLN�0RQLND� =%�
����� ���35$�'����:

�������������7\J��������

6HPLQDULXP�G\SORPRZH�
GU�%DUWQLN�0RQLND� =%�
����� ���35$�'����:

Z
WR

UH
N

ģ
U

�������������7\J�������
�����

3URMHNWRZDQLH
XQLZHUVDOQH� GU�%DUWQLN
0RQLND� =DMĊFLD�RQ�OLQH�
���5,3�/����:<.

3LHUZV]H�]DMĊFLD����PLQ�
Z�JRG]����������������

F]
Z

DU
WH

N

�������������7\J��������
�

3URMHNWRZDQLH
XQLZHUVDOQH� GU�%DUWQLN
0RQLND� =DMĊFLD�RQ�OLQH�
���$'0�0����:

Z�W\J����]DMĊFLD�RG�����

�������������7\G]��

GU�%DUWQLN�0RQLND� =%�����

6327.$1,(�=(�678'(17$0,

�������������7\G]��

3RVWĊSRZDQLH�NDUQH��Z��
GU�%DUWQLN�0RQLND� =DMĊFL
D�RQ�OLQH� ���35$�:���
:

�������������7\G]��

3RVWĊSRZDQLH�NDUQH��Z��
GU�%DUWQLN�0RQLND� =DMĊFL
D�RQ�OLQH� ���35$�:���
:

�������������7\J�������

3URMHNWRZDQLH
XQLZHUVDOQH� GU�%DUWQLN
0RQLND� =DMĊFLD�RQ�OLQH�
���$'0�6����:

�������������7\G]���

3URMHNWRZDQLH
XQLZHUVDOQH� GU�%DUWQLN
0RQLND� =DMĊFLD�RQ�OLQH�
���$'0�5����:

�������������7\G]��

3RVWĊSRZDQLH�NDUQH��Z��
GU�%DUWQLN�0RQLND� =DMĊFL
D�RQ�OLQH� ���35$�:���
:

�������������7\G]��

6HPLQDULXP� GU�%DUWQLN
0RQLND� =%������ ���
$'0�6����:

�������������7\G]��

3RVWĊSRZDQLH�NDUQH��Z��
GU�%DUWQLN�0RQLND� =DMĊFL
D�RQ�OLQH� ���35$�:���
:

�������������7\G]���

3URMHNWRZDQLH
XQLZHUVDOQH� GU�%DUWQLN
0RQLND� =DMĊFLD�RQ�OLQH�
���$'0�5����:

SL
ĈW

HN

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



=LPDB����

3UDFRZQLN�5R]NãDG���GU�%DUWQLN�0RQLND��7\J������

�������������7\G]���

3URMHNWRZDQLH
XQLZHUVDOQH� GU�%DUWQLN
0RQLND� =DMĊFLD�RQ�OLQH�
���$'0�5����:

�������������7\J������

6HPLQDULXP� GU�%DUWQLN
0RQLND� =%������ ���
$'0�6����:

������
�������7\J
������

3URMHNWRZD
QLH
XQLZHUVDOQ
H� GU
%DUWQLN
0RQLND� =D
MĊFLD�RQ�
OLQH� ���
$'0�6����
:

�������������7\G]���

3URMHNWRZDQLH
XQLZHUVDOQH� GU�%DUWQLN
0RQLND� =DMĊFLD�RQ�OLQH�
���$'0�5����:

SL
ĈW

HN

�������������7\G]��

3RVWĊSRZDQLH�NDUQH
�ZDU�� GU�%DUWQLN�0RQLND�
=%������ ���35$�:���
:$5

�������������7\G]��

3RVWĊSRZDQLH�NDUQH
�ZDU�� GU�%DUWQLN�0RQLND�
=%������ ���35$�:���
:$5

�������������7\G]���

GU�%DUWQLN�0RQLND� =%�����

1D�SRWU]HE\�]DOLF]HQLD

������
������
7\G]��

3URMHNWRZD
QLH
XQLZHUVDOQ
H� GU
%DUWQLN
0RQLND� =D
MĊFLD�RQ�
OLQH� ���
$'0�5���
:

�������������7\G]��

3RVWĊSRZDQLH�NDUQH
�ZDU�� GU�%DUWQLN�0RQLND�
=%������ ���35$�:���
:$5

�������������7\G]��

6HPLQDULXP� GU�%DUWQLN
0RQLND� =%������ ���
$'0�6����:

�������������7\G]���

3RVWĊSRZDQLH�NDUQH
�ZDU�� GU�%DUWQLN�0RQLND�
=%������ ���35$�:���
:$5

�������������7\G]��

3RVWĊSRZDQLH�NDUQH
�ZDU�� GU�%DUWQLN�0RQLND�
=%������ ���35$�:���
:$5

�������������7\G]��

6HPLQDULXP� GU�%DUWQLN
0RQLND� =%������ ���
$'0�6����:VR

ER
WD

�������������7\G]��

3RVWĊSRZDQLH�NDUQH��Z��
GU�%DUWQLN�0RQLND� =DMĊFL
D�RQ�OLQH� ���35$�:���
:

�������������7\J������
��

6HPLQDULXP� GU�%DUWQLN
0RQLND� =%������ ���
$'0�6����:

�������������7\J������

6HPLQDULXP� GU�%DUWQLN
0RQLND� =%������ ���
$'0�6����:

1

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


